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&£ B 11,672 12, 449 24,121 9, 808 —51 -13
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=Pl 862 953 1,815 740 — —1
kD 4,391 4,832 9, 223 4,145 -9 -5
ESENTT 3, 767 4, 059 7,826 2, 850 -14 -10

g 38, 366 40,916 79, 282 32, 881 -19 2

=R KB O RO (K55 2)
X 4 Bw () AiH 2=
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= K 10, 016 10, 596 20, 612 9, 092 25 19
—Km 2,947 2,950 5, 897 2, 362 12 2
IGE 3,215 3, 463 6, 678 2,710 7 1
S 1, 376 1,421 2,797 1, 087 -14 -3
AL 1, 064 1, 061 2,125 830 4 2
0 S 862 953 1, 815 740 —4 -1
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g 38, 366 40,916 79, 282 32, 881 -19 2
(1)

1 ZoANaEF, ERERBRAODTSH D,

2 X532

XA,
[=K]

[BIFT |
&Y

(THR) OFRRIF, KOLBY THD,

N=REEPN

I

T DA OHIX

SR A BT

=113
i

X1 (%) O=ZAKHMKNSBHNADA - S5F 5

Ze BRI 3K

X1 (B3R) ORIFTHX s B/IMR A FRO -5

K43 1 (E22) OREYLHIR s 5 ARYLMT P [T S + o 78 -
Wil - KB T H~8T A &2\ =%
1 F A FASHT J OV YR 6 (3 A - 1 s I+ R S A3

WEB T

ASYERT R LD A

X1 (BF)

ERC




